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The rationale for macroeconomic policy is best described by which of the following?
(A) Reallocate resources in the economy.

(B) Influence consumption in the economy.

(C) Function as a counter cyclical economic tool.

(D) Increase the productive capacity of the economy.

Which of the following combinations correctly indicates how a foreign loan would
impact the Balance of Payments?

Credit Debit
(A) Financial Account Primary Income Account
(B) Primary Income Account Financial Account
© Secondary Income Account Capital Account
D) Capital Account Secondary Income Account

Which of the following policy measures would most likely cause the deterioration
income distribution?

(A) Increased transfer payments
(B) Increasing the tax-free threshold
(C) Indexing minimum wage to inflation

(D) Implementing a flat rate of income tax

Which of the following would cause an increase in the labour force? (updated per errata)
(A) Increase in the retirement age
(B) Increasing the school leaving age

(©) Removal of the childcare subsidy

(D) Prolonged period of economic recession





































































